N = 0l & At & Ml A

20194

H
i
2
z
ne
s
ton
!
0
10
4

SN AT HINAD
[u}

Mu. Fopis nmee
ool gHUEXE PH2Y N CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HAD XD 17,382,993 17,282,360 100,633
= 4,072
Al 17,378,921
FUOE D2 A 2,122,089 2,060,509 61,580
geEgie 2829 A 179,939 163,702 16,237
24E #HAIERN 2 X 94,576 94,796 N 220
201 LEt2AY| 43,892 46,652 N2,760
01 AFR 2t2ldl 12,400 12,300 100
OS2 FEBNE ZLAME 1,140
OLBAA(1Z) 700
=2 230,000 = 1H = 23] 460
-z 120,000& * 1 x 23] 240
Ot A (23) 440
-J|& 120,000& * 1Y x 23] 240
-z 100,000 » 1H x 23] 200
OHZFEE L 2S8H 1,500& = 5000H 750
OAZ L A=2H HOIA 5,500& x 5000H 2,750
ORAZ &Y 100,000& * 59 103 5,000
OFJAZE 1=t 1,360
Oo=22= 120,000& * 49 = 23] 960
ogsts 100,000 * 4H x 13| 400
OLZHAN EE Y 70,000& * 203 1,400
02 352494l 31,492 34,352 N 2,860
OHFALRAEH R I 1,952
O1NE= A 15,000,000& * 8% 1,200
OLE= A 3,200,000& = 20H * 8% 512
O2MA D] 1,000,000& * 300 » 8% 240
O0IS& &oi2g = 70,000& * 422%H 29,540
203 &R =&H| 12,000 12,000 0
03 A =X SR =XAH| 12,000 12,000 0
O&HCIANL X LdHHFHR FX
12,000,000& 12,000
206 T2 HI 7,976 6,976 1,000
01 & bl 7,976 6,976 1,000
oOLZ:Jt2J uH 7,976
OJIZ2Il ME(2xE) 8,000& = 3004 2,400
OJt2 7] 5,000& = 1,000 5,000
OHZ2IIS(AHLUE) 24,0008 * 45 ~ 604 576
301 LerE A3 14,868 14,868 0
02 &st=2s = 12,948 12,948 0
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HE: F0OE IHLY
Sl BeEXs PESY X8 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OolISsS&E X HES S 647,400& * 10 * 23| 12,948
09 &AL HIZB A S 1,920 1,920 0
oz2F 01Ss&EE2s 24
10,000& » 16F * 62 960
OHAT ZUNKAVHE 2
10,000& = 16Y 63l 960
307 21201 A 15,840 14,300 1,540
05 RIZt2I &= 15,840 14,300 1,540
O0=dY JI2J| HY L #HA
3,960,000 =+ 43| 15,840
A ==X 58 48,483 31,426 17,057
201 Lt 17,878 17,947 A B9
01 At 22l 17,878 17,947 269
O OIS T2IY 29 ALY
300,000& = 401 = 12& 14,400
OTUAY FI(AE @ 55) 7Y
2,464,000 2,464
oRUAY x2ld Jte R
55,000& = 3Y¥ « 23] 330
oOFRUAE E)| BIEE
57,000& = 104 » 12& 684
303 L& 3 6,000 6,000 0
01 243 6,000 6,000 0
Of+=EF& 2& 100,000& » 10 * 63l 6,000
405 TtHakH S| 24,605 7,479 17,126
01 AL EFH S 24,605 7,479 17,126
OFUAE F=&I132 ¢ 8,989
OZEotA=D| 744,000 * 1CH 744
Ogag Hd&ED 2,945,000& ~ 104 2,945
OJtAF B 2,650,000& = 2CH 5,300
OFUAE Mz 2 7,500,000& = 2CH 15,000
OFUAE HEDI 72 616,000& * 1CH 616
MG ARSI SR THE X & 36,880 37,480 A 600
307 glz2tol & 36,880 37,480 A 600
02 P HAHEE 36,880 37,480 A 600
OS%sS MOISXEZXE2S AIE XA
1,200,000& * 8JH £ 9,600
OSHs MOtSRUS AHXE
1,200,000 * 8JH £ 9,600
OSHY S BtZAHAIIRAJAS AMEXRA
1,360,000& * 8JH 2 10,880
Ost=TtrEdN SHS=E3 MIXH
600,000  30H A 1,800
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5,000,000 * 1JH 2 5,000
AEESANE JIsE2Z 216,133 177,740 38,393
FREAHS0E 29 216,133 177,740 38,393
201 L2l 150 200 A 50
02 =24l 150 200 A50
OEOI=0IAIE A B8z
150,000 * 12/ 150
307 21201 A 204,783 172,590 32,193
10 ALSISXAIEEER2IHEX 204,783 172,590 32,193
OF3FE Heold 249d X
204,783,000 204,783
401 AIEHI L 2 CHYI 11,200 4,950 6,250
01 A& HI 11,200 4,950 6,250
OF3FE HEold 3L SAt
8,000,000& 8,000
HEAE M0l A0 WA 3,200,000& 3,200
+EIIE 22, SH , ZA SEL 3t 41,182 49,198 28,016
dE ZEIE FA 15,260 22,960 AT7,700
201 Let24d] 9,260 14,460 25,200
01 At 22l 9,260 14,460 25,200
OAZE FHYRBIN R 7,500
O&FJI g=RE1A 10,000 » 502 23] 1,000
O=Al HREDM S
10,000 » 502 23] 1,000
Oo3eiE AR2LA R0
10,000& = 1008 = 13 1,000
OR&ANHBIN R0
10,000 » 502 23l 1,000
OF2d: AMdAH=ENH S0
10,000& = 1008 * 13 1,000
ARAHAN R 10,000& = 1008 * 13 1,000
OMNEHEM 72 10,000& = 1008 * 13l 1,000
O x=d FEEIAM B2
10,000& = 502 = 13l 500
2AE HREDNF @2 WA
70,000& * 83l 560
24T MAH &40 A8 1,200
O Xt 250,000& * 43| 1,000
OsE= 50,000& = 43| 200
202 04l 5,000 7,000 A 2,000
01 = LH 4 Hi 5,000 7,000 A 2,000
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OFFYSEFE Hl 20,0008 = 10¥ = 25¢ 5,000
405 TtHabF S| 1,000 1,500 A 500
02 = A=l 1,000 1,500 A 500
OHMIXNZA(SIHH) =M
12,500& * 80& 1,000
A2 EHolte REEER 21,154 26,238 A5,084
201 L2l 20,104 23,238 N3,134
01 At 22l 20,104 23,238 A3,134
oO=E JIEEE & 88 1,600
Oelstz 5,000& = 3000H 1,500
(OPNFIELDY; 10,000& * 104 100
OHHBHE M2PEZ 15,504
Os&X 15,0003 = 8IH AL * 32 = 128 4,320
OX X 13,0003 = 8IHAL = 8% » 123 9,984
O=F2tX 5,000& * 40HAt » 52 = 128 1,200
ox&¥Es=2s MA 10,000& * 3004 3,000
401 AIEHI L 2CHEI 1,050 3,000 A 1,950
01 A& Bl 1,050 3,000 A 1,950
Ot A2 RXE 50,000& * 21042 1,050
Zatst SAHAXZA 4,768 0 4,768
101 @124 dl 4,768 0 4,768
04 JIZHHZ2XRHEES 4,768 0 4,768
OSHEZAN GFRExX FY 4,317
O A M ZE A 71,9403 * 18 » 20 1,439
OZ MY EA 71,940 * 1% = 20 1,439
O A2 A 71,9403 * 18 » 20 1,439
OSHZEA SREX B8 RES3 451
o202 23
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OAZEEE FE3
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O EAEE=
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WHHEE FAEE =4 848,928 825,596 23,332
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01 At 22l 8,990 9,350 A 360
OUAMTHRIE B U A 4,490
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2N BED BINAD
B F0i0E 22y
el MEE BABY Z4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oo&x 2,700,000 =« 3CH 8,100
OsE8x 4,900,000& =« 2CH 9,800
Osgxt 6,500,000& * 3CH 19,500
Ost= Xt 4,300,000& = 1204 51,600
202 04l 3,750 3,750 0
01 = LH YI 3,750 3,750 0
OAZE AMH=ZE EXH Wbl 3,750
Oz 30,0003 = 53 = 153 2,250
OZLH 10,000& = 53 « 303l 1,500
405 XHoHF S HI 30,000 50,000 A 20,000
01 AL EZFH S 30,000 50,000 A 20,000
oOZxESEX 2L (MAM) 30,000,0008  1CH 30,000
THRst HAL |22l 693,061 627,887 65,174
201 L2l 403,992 375,446 28,546
01 At 22l 58,284 56,150 2,134
oOgeE d2X 7¢ 150
Od=s, #isd 7Y 50,000& * 3% 150
OF AL Re1dHl A= 380,000& = 12& 4,560
OYgRUE++2 53,574
OFI|IHEZ A HEEZ (1,050Kw)
1,187,200& * 128 14,247
O&H HEE S8 ZA==2
550,000& = 23| 1,100
O&H HAE2 AdUBI(HAEsE) SME2
750,000& = 13l 750
OsZIl THBA HHEZ
180,000& = 204 = 12& 4,320
OFAMNALTANELEZSEN HE=
630,000& = 12& 7,560
Os2JIga HIIFAR 150,000& * 2CH 300
O=83 &4 1,900,000 * 23| 3,800
OFA AL+ 2(DAHES)
210& = 3,557m = 63| 4,482
OFIINE FAEZY 448
1,200,000 * 13| 1,200
OZAINAAE HIBA =2
270,000& = 13l 270
OsZdlletE e it s
20,000& = 13l 20
OJtAotd2te| Xt WSS
65,000& * 13l 65
Oagordzte| Xt WSS
200,000& = 13l 200
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJtAotE 2|t H WSS
281,000& * 13l 281
O=2dZHMa F=J U=
40,000& = 123 480
OFA &4 HIO 2=
25,0008 * 3004 * 123] 9,000
OBAM XE Hie 24 o B4
350& = 15,710m’ 5,499
02 =224l 345,708 319,296 26,412
OFAIZE 2223 210,903
OEAIARZ 3,200,000& * 12& 38,400
odIIe2 10,476,000& * 128 125,712
O& o= 23 3,500,000& * 128 42,000
OLSRERES 600 * 15,710m = 50% 4,713
OZAItA HHAMAEEHZ 25,0008 * 13 25
OALgotE R AHA3H| 53,000& = 13l 53
O A& &8s Xl 93,960
O&FArH 2R XY 4,224 + 15,710m’ 66,360
Od . HYAE SX2eltl 15,000
-2 A2 10,000,000& * 13l 10,000
-Eo4ddl, HERIE=s
1,500,000& * 2CH 3,000
-2t &8l A2+ 1,000,000 * 2CH 2,000
OFEA W 002 K Xlb 60,0003 = 60CH 3,600
OFA W ol 2H Ea
100,000& * 60CH 6,000
OF A LEDMZE RXIHl 1,000,008 » 1CH 1,000
OB Z 2EsH R
2,000,000& « 1CH 2,000
OFHAAEFXH (Hl&ZAI) 1,338
OR% 1,350& = 54 = 50 338
O KXl 1,000,000& = 1CH 1,000
OFX2H AAE KRIE =l
540,000& = 12& 6,480
OFHAL NNEsS FHIIHEZ(BBANEE) E9HI
5,700,0008 * 23] 11,400
OBAM ZZ+ L AZ8 XD
2,700% = 2,670m * 33 21,627
206 = Hl 30,929 30,229 700
01 MHZ 4l 30,929 30,229 700
& M2 83 7Y 22,493
HdE2E S&EX 2 200,000& x 55 » 128 12,000
OB MeII=F
1,860 = 2& » 208 * 123 893




SA: HAP HIXAD
MM FOOE RH2Y
el WEE FAMSE =4 (SH2:EH)
2A-F3H-H2A(3) - MY - BES Of] Ak %Ei Hns2Z
OFA HLAZSE(HHS 55)
5,0002 » 202 » 12¢ 1,200
O#CcErS 35,0009 = 2004 * 128 8,400
OFAIHE 2AM L W HIAL IR (Y=
Q 20&) 50,0008 * 58 » 12¢ 3,000
OU2LE ASAE 22 44,0008 * 24H 1,056
OHA HI| ADE 3,330
OLepg = 55,0008 = 5074 2,750
OFZHI(32W) 7 58,0008 = 108fA 580
OxLAE 2AZ2RE 2L 1,050
O23d| 2 55 10,0009 * 65 » 12¢ 720
o 2 XD 5,500 = 504 * 12 330
401 Al HI 2 2 0HH| 258,140 220,812 37,328
01 Al&HI 258,140 220,812 37,328
OBANAES M L BLZA 258,140
OBANAEH ST HHISA 106,070
-OlARMR)] L T
100,000,000 = 10K A 100,000
-AAl & Y 100,000,0009 * 6.07% 6,070
OFASA ST A 106,070
-2 A 47,6198 = 2,100m 100,000
-&L Al & H Yl 100,000,000® * 6.07% 6,070
OFA 3 TA 2124 46,000
-2 S &A(L,01) 23,000,000& * 142 23,000
-6 SH&A(E,04) 23,000,000& * 142 23,000
HE35 JgtEs 9 #8 X 835,907 844,273 18,366
OHN IO HHHEE 29 378,654 357,322 21,332
201 L2 169,494 186,322 A 16,828
01 At 2t2l Y 27,950 39,800 A11,850
OBE ATEF0 2 27,950
Ostau A 260,0009 * 30= 7,800
oMs Il A 450,00090 » 352 15,750
OLeE=R 44,0009 * 1002 4,400
02 2229 141,544 146,522 A4,978
OHMAEH L AlAE SXB4 119,284
OFF L SHES A2 E 2 EE(48100)
4,792,0008 * 12% 57,504
O7H & SHES I2E ZTlH(2130)
890,0008 * 12& 10,680
O ¥ SHS 2AALZI|(1704)
3,535,333 « 12@ 42,424
OSHE SEUALZI(140)
689,0008 * 12& 8,268




SN HRT SIXED
B F0i0E 22y
el MEE JIBEY 2 BE KR (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OUWEHIIES tisal D &gt
34,0008 = 12&€ 408
OBHATER O S 22,260
OPCE WAl T2 ) 28,0008 = 500 14,000
OANHE Al T2 )M 440,000€ * 42 1,760
OLHPCXIZ O] 30,000& = 100 3,000
OMoldEE a5zt I3 (PCR)
35,000& = 100 3,500
207 A OH 4| 22,000 0 22,000
02 & AHJH EHH| 22,000 0 22,000
O3 ¥ SH=sS EHOIKXN RAESE
22,000,000 22,000
405 XH&HF S HI 187,160 171,000 16, 160
01 AL 2 FF S| 187,160 171,000 16, 160
OxE 2 SUHES FOHH HAAIREYH 22 187,160
O&EH 1,400,000&  70CH 98,000
OZZIE(EW) 600,000 = 20CH 12,000
OLooIALZII(CHAM) 25,000,0002 = 2CH 50,000
OSeolALZ I (HAN) 7,920,000& = 3CH 23,760
OFDUSEAP EoAAEH
1,700,000& = 2J4 3,400
HEBEAN JIBAIE 29 457,253 486,951 N 29,698
201 et 261,253 299,493 A 38,240
01 AFR 2t 2| bl 2,000 2,000 0
OMNESEHIAI SHEH W¥LEx=
200,000& * 1004 2,000
02 Z=22%H| 259,253 297,493 A 38,240
OSHEE3H AME2 99,720
OZIEEEA JIE23H AIE= 86,400
-2 o Z,H(30Mm)
700,000& = 33| » 12&€ 25,200
-7 o =(30M) 700,000 x 534 x 12& 42,000
-2l 30|
200,000 = 83| & * 12& 19,200
OidME AZIH(ZIIEESA 2g4)
300,0008 * 23| = 12&€ 7,200
O=2UlHEsS3E MES 6,120
-7 e 5,89, 5,J|E
30,000 = 173/ & + 12€ 6,120
OMBHE(QEHUYKESE) AlE2
3,000,000& = 12& 36,000
OYLBNGH A== 8,0008 * 434 x 12&€ 384
OALEE A2 (2EEHA)
20,0008 * 13/ » 12& 240
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el 23S itz y 2 228 N (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OQHYIIH /2L Y SIHAE
40,0003 = ZOQI/Q'1 * 1228 9,600
OFES4EH KX 2el 113,309
OFESAY UERAIANAH
4,692,080 » 12& 56,305
O Z &t AlAE 2,183,330& = 12& 26,200
ogzgsdl 89,000& » 12& 1,068
ORZFE dJAFX 215,000& = 123 2,580
OMNEEHZAA ST EHI 333,000& = 12& 3,996
CdZLYEsEE 666,000& = 12& 7,992
OCCTVAIAE(RHE HAYSE, SHSIIAL
LHE) 640,660 * 122 7,688
Oz /=x5HAAE 273,330& « 12& 3,280
OIPHELSAIAEH 230,000& = 12& 2,760
SAESI1(300H) 120,000& = 12& 1,440
206 M= Hl 5,000 3,000 2,000
01 =8l 5,000 3,000 2,000
OFESHANLE AT 5,000
OUTPAIOIE 2 108 2,500,000& = 23| 5,000
T AEZHIZE0UY 127,500 143,958 216,458
1 Al £l 127,500 143,000 A 15,500
O3 & S8Hs FUSUEZ FHHI 10,000
OAMEBAMHBX FUHSAMEZ EHI
5,000,000& = 23| 10,000
o7& &y &TH ==uA
50,000,000& * 1JH 2 50,000
ORH/SHUES FALSE (CTV 45HA 49,500
OFE SU/NGHERNE BALSES TV 4
shs 33,000,000& * 1JH 33,000
OU=+=SAM2L EMESE CCTV &XI
16,500,000& * 1004 16,500
O+& 2228 =& &X
6,000,000& = 10H 4 6,000
OF& Halda RUINIHEX E=ZA
12,000,000& * 1JH 2 12,000
405 THabH S| 63,500 40,500 23,000
01 It ESH SHI 63,500 40,500 23,000
OUERIARIR =S WA (L2 PoE4BEE)
5,900,000& = 5CH 29,500
OHIHBII(IPE) ¢ 600,000& = 20CH 12,000
O7E FESUA ¥28LI| 2D
22,000,000& = 14 22,000
AH88 223t - HE 2 37,030 44,100 AT7,070
28 -Hs 24 37,030 44,100 A7,070
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ool A[E 25 - S 29 (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ais RS2dEd 4 9,860 8,640 1,220
201 £B-2d| 9,860 8,640 1,220
01 At 22l 9,860 8,640 1,220
O, HY MEY UL, S22 WA
5,000& * 5008 2,500
OLcHHSEAI LA 29
120,000& * 2% 240
O3ZAE=2 AHEZA =3 520,000& ~ 13 520
OSYAHLYI MY NS (FEEH)
660,000& * 103l 6,600
SUMSAE 2l 27,170 35,460 A 8,290
201 LB-2d| 420 420 0
02 8322l 420 420 0
OEES MSAE MRS
35,000& * 1A + 123 420
305 tHal= s 500 0 500
01 Hia=s 500 0 500
ooesII? SXSHASSH IR 2
100,000 * 53| 500
401 Al HI K 201 I 26,250 35,040 A8,790
01 A& HI 26,250 35,040 A8,790
OsUXMSAE SRANE=> 30,000& = 175& 5,250
oOk= 2=J/+7 1A 3,000,000& = 7& 21,000
olgrel 29 357,074 343,909 13,165
gt e 25t 2 MR 2 357,074 343,909 13,165
olgte nEgd =3 200,096 199,405 691
101 14l 1,336 1,205 131
M4 D12t ZE2EXNEES 1,336 1,205 131
oo JIHZ2I AL 66,8003 * 4H « 53| 1,336
201 £B-2dH| 11,560 8,410 3,150
01 At 22/l 11,560 8,410 3,150
ooy BE B2 B
70,000& * 34 * 33l 630
ovlgtel HIu(S==)AE tUE X 2 WA
100,000& * 207K 2,000
o= ME 6,000& = 100& = 23] 1,200
oEge 2d 435 Rel= M 2,350
Oolge Ws 2d HaN g
10,0002 * 502 500
oolgre] W= =g H4AZF 508 = 7,0000H 350
OsRHEAM R 50,000& = 302 * 1& 1,500
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